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P -1 Pl(l-—}(—) < ml'Plzz—l pl(l_%)

<ty D <
[Suppl | < PP <prk p <vp

2041y gL
gm]_p x P( k).

D) 1<l —0;<2tj, Wit 4;21, HE[HE 24, WE m; =2, TEHFIE 23 (2.2)
R, ;< 1(p),

a+2¢; 1 moprpe +1 1
Y R B { § a1y ii-
|S#,"PII<PI-!<P Iy IP(I k)gp X ‘p(l k)

4L 2:(p)+1

1 _1
<mjp & pl(l'*)<mm_k’_" pl(l ©),
3)l—oi=2;+1, BHm=1, Woj=r+2, =0 W4 r=0, PRAUSIHE
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2.5 FI5|# 2.6, M o, = 2,
1Suotl = 17 1S(ps g0, ()] = p77[S(p5 23| < mypni3

2 (-4 2y gk
=m;p k P( k)gmip k P( k)-

WmB =1, WESIM 25 M5B 2.6, K p=5KF
lSﬂ;,l’ll == Pdi_rlS(P, g,L,(y))| == P”i_l‘S(p, gz(y))\ < p’

A

i

o--H_— t+3_3
0D L, D)
2+ —
<mp k- A 0,

MY 2 =3M,H5[H 25, [S,t] =383, G|, Hi=0+1=r+3>

+ 1) HEAIER =1, EXEXFENELy,

2(¢(p)

g@)_f(ﬂ,)y_‘_f (uy) yz+f ("J)y3—(f(.“/ f”(l"/)) +f"Q‘§L_L), ¥ (mod 3),

3? 6 31 32

X () 3= 0 (mod 30), I 3*’"%’51, FOLHIEIHE 2.6, &

4_3 @41, 4, L
lsﬂldll <3ul—%=m,'3k 13(1 © < m3 & ‘3(1 k)'

B omi=2, 1, =0, MHF[E 2.3 f(2.2) L,

m +r+2
1 t+2_y l(l—

D 17
Sl < pi<p &Y D T ),
ﬁ’é‘l mi;Z, L,'>1 H‘T7EE§I£E28, Jlﬂ 2.2 *u 11<1(1’)-

u,+2t)+1 2(P)+1 . 1(;_%)

2 il
|Su | Smip 2 =mp” & PO < mp k  p
4) 2, +1)<1—0;<2() + 1, EHHEIM28F o<k B

ot 1 2 1 1
- -2 Ni-3 20+ (L
[Swll K mp 2 <mp & P( 2 <mp & P( k).

5) 1 —o,=20:(p) + 1), HMNBERAMERRK o <k,
o -1 -0 7 —1 s (I_Gi)(l'lt)
[Suptl = P77 ISP, gy << P7'mip &P

2en o Tiy s 20041, gy L
e ’<)<mp e ),

Hl5(E 28, % 1> 2(p) + 1 I,
1S(5 1G] < Z [ Sue]
B (4.5) SRS, B84 52 4.3 . -
H. B8y BH
R L. it p < & WIS, %k=3ﬁ 315 3.3 31 35,

121, 1(o))| < 26070,
% k=4, p=2, MBI 42,
|82, f(x))] << 3 -282M09 L 4 - 20070,



%1 Ry g: SE¥E= AR T 13

%j k=4a p=3, EEEIE‘!.%:
|S(3’, f(x))l < 3. 3%—131(1—{) <3- 31(1—%);
RTJ‘ k=5, 6,

2 [—IOgl‘] < 2[__10;;1{] —i<k—1;
log p log 2

XY k=7,

2

'quli] < logk ylogk )
log ¢ log p log 2

R EIE 42 A1 4.3, % k> 50, S0 1)) < (k— 10,
3 k< p<(k— DF-1, 3% 2.9,

! t.0-%)
IS(p, (=) < k*p .
R3]

(k— )T < p < (h— D)ieT,
d1 ik 161 /5 (10) s

15(", 1G] < (h — Dipth),
TR 1B,

S 2 BIEN]. B Xe= (k— Dier,  BiXcmt (810312 1, 513 3.3, (3 3.5, 7]
4.2 15[ 4.3, &

1

1S(q, H(x))] < eF®g K, (5.1)
Hrh

F(k) = (1 - %) (x(X1)log X — 0(X2)) + % (Z +(p) log p — G(k))

p<k

+ [AZ2 (x(X3) tog X1 — 6(XD)

2k
— 2 (a((k— 1) log (k — 17" — 6((k — 1)2»]
= L(k) + L(R) + L(R). (5.2)

3 3<k<20, H(5.2) XE&HITHEB F(R) <1854,
k=21, 5@ 1918 (39) &L

— x5
L(k) _ log(k 1)5 k00 g < 1001102 x 02
k k k-0*¢ log?t 21 X 19
. 0.23
% [1 +0.2510g20 « (1 + 0.25 - log 20 <1 + 0.25 log 20 2019))]
L 38 . 3 X 19 4% 19
15 2001-_:‘{-1-2
b Z—————él.zwl,‘ (5.3)

2
Bt

# 21 <k <28, BHER)HEE
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L‘%%Q < 0.45568,

FIF 2() logxr — 6(x), % x> 2 2 RER, —"—‘—2 ox >4 EREKTE, %
29 < £ < 40, I-‘%@-go.snu; A 41 <k <60, I(’f) < i??

< 0.529461; iRt 61 < & < 100, (A < X (n(108)10g9998 — 6(108)) < 0.533364;
k 61’

B k=101 I, Ak 18119 (23) 54,

X (2(67)log 595—0(67))

L(R) _ log (k= 1)5& Y < 1001102 8 (R = 1)(5“ VR dr
k k

2 tlog?t k-1 log ¢
k +t+1
-k~ %D _” ds
i 00, 2 3 [y
(k1) i=o (k- l) log t

(k=D)!/2 k= 1)1/5
+ j _ar 5 dL)
40" log?; 2 log?z

ROTXER [9TH (500K, &> 101 W,

H-—ki— kJ_
_ (k-1 =2 (k-pk—2
1.001102 ELU(S dz +j 1 de )
k—1 logzt (h-p k= 210g ¢
1 oy
- ,
< 1.001102 x 4007 =1 (100 4 1002 )< 0.0208,
101 X log 100 1 1)2
+ -
99

_+L4;_1 L
1.001102 log(l( I)Zj(k n il'i < 1.001102 XM
1=0 7 4,2 *z log’s 101 log 100
o2 2
Z 11 (12) o Lo 100
= (_+L> i) " 127 101
2 12
< 0.25642 + 0.09929 = 0.35571,
(k ) 116 N2 =1
XK m((/{—‘l) — 1) 4 k=101 WEREXK.
_ k—D1/2
toottoz LB D[ d_ ) 04 M((& — 1) —1)
k k-0 log? 4klog (k. — 1)
) 2/5 1
< 1.001102 x — 23 X 100 (100 — 1) < 0.05015,

4 % 101 X log 100
W JE > FUATCER (91 89 (54) #1(55) K,

. (k—1)2/5 6.33
1.001102 M’;—U [ 2 1.001102 1°g0109 X j _dz

X
J2 log?s 2 log?s
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log 100

< 1.001102 X X 3.0957 < 0.14131,

Bl %k > 101 A,

l‘(ki)g 0.56797, (5.4)
W k=40,
L(k) _ _ 2 _
p kl(;§2:<p>logp 0(k)) < 2 (x(blogk — 6(K)

k
- Zlog/{j a(z) < 2logk jxk 0(z) dt
&k Jz2rlog’s R )2 tlog’t

2 log & Clog(k —1) S"k 6() dr
k log(k—1) k 2 tlog?:
3 10gk Il(k)

k log(k—1) k& °
i

A, 2l <k <28

LK) <2 o log2l g 45568 < 0.04411;
k 21 log 20

29 << k< 40 W,

i3

L) 2y log29 54911 < 00377815
k 29 log28

M 41 < k<60 B,

LR 2 5 log#l o 550461 < 0.026013
% 41 log 40

¥ o6l << k<< 100

Lh) 2 o logbl o 533364 < 0.01756;
k 61 log 60

% k> 101 B,

L) _ 2 logl0l

< X 0.56797 < 0.01128,
k 101~ log 100

S LI, BV
F—k)~< 1.85,
X
I 2 8.

£ ¥ X M|
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